Tietojenkasittelytieteen yhteisvalinta 25.5.2012

Tehtava 2: Kuvioiden piirtaminen,
esimerkkiratkaisut

Kysymys 1: Kysymys 4:

sakaroita < 10
kulmia < 6

TOISTA sakaroita (

. ETEEN(10)
. 0IKEA(90)
TOISTA kulmia (
Kysymys 2: ETEEN (2)
TOISTA 6 ( VASEN (360/kulmia)
ETEEN(10) ETEEN(2)
VASEN (180) )
ETEEN (10) 0IKEA(90)
VASEN(180) ETEEN(10)
VASEN(360/6) VASEN(180)
) VASEN(360/sakaroita)
)
Kysymys 5 Kysymys 5:
matka < 1

lisadys < 1
kulmia < 6
kierrokset <« 4

TOISTA kierroksetxkulmia (
ETEEN (matka)
VASEN (360/kulmia)
matka < matka + lis&ys



